ReF,
\Q R & E PETROLEUM EQUIPMENTS

Supply Spare Parts For Fixed Reactor

Dear Sirs;
Ref to a/m subject, you are kindly requested to bid concerning the supply of the following:

Item| Description Unit |Qty.

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,

Mfr Part #: 7282 / 8282

Item Specifications: REACTOR,SPARE PART

SIZE: OD38XID18X3THK

ITEM: FULL THD. HEX. BOLT WITH HEX

PART NO: 7282 / 8282

DRAWING NO: H02-5515-1-72, H02-5515-1-82

MATERIAL: SA 193 GR B8CA, SA 194 GR 8CA

Description:

SPARE PARTS FOR FIXED REACTOR

MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE.,
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY
ENGINEERING

TAG NO.. EQUIP SL. NO.

V-141-0212 1

V-141-0215 2

SECTIONAL DWG/PARTS/LIST NO.: H02-5515-1-72, H02-5515-1-82
ITEM:FULL THD. HEX. BOLT WITH HEX. NUT & WASHER

MOC: SA 193 GR B8CA, SA 194 GR 8CA WASHER MATERIAL: SS
SIZE:OD38XID18X3THK, M16 X 45 LG.

MATERIAL STANDARD:ASTM

MANUFACTURER PART NO:7282 / 8282

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,

Mfr Part #: 7381

Item Specifications: REACTOR,SPARE PART

ITEM TYPE: Full Thd. Hex. Bolt with Hex. Nut

DRAWING NO: H02-5515-1-73

SIZE: M16 X 75 LG.

MATERIAL: SA 193 GR B8CA, SA 194 GR 8CA

PART NO: 7381

Description:

2 | SPARE PARTS FOR FIXED REACTOR EA | 452
MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE.,
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY
ENGINEERING

SECTIONAL DWG/PARTS/LIST NO.: H02-5515-1-73
ITEM:FULL THD. HEX. BOLT WITH HEX. NUT- MOC: SA 193 GR
B8CA, SA 194 GR 8CA

WASHER MATERIAL: SS

SIZE:M16 X 75 LG.

MATERIAL STANDARD:ASME

P.O. Box 4421 Salmiya 22045 Kuwait—Tel.: 965-22272270/72—Fax: 965-22272271-E-mail: admin@re-petroleum.com

EA |325




ReF,
\Q R & E PETROLEUM EQUIPMENTS

MANUFACTURER PART NO:7381

TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0212 NA 1
V-141-0215 NA 2

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,
Mfr Part #: 7380
Item Specifications: REACTOR,SPARE
PART NO: 7380
DRAWING NO: H02-5515-1-73
ITEM TYPE: Full Thd. Hex. Bolt with Hex. Nut & Washer
SIZE: OD44XID18X3THK
MATERIAL: SA 193 GR B8CA, SA 194 GR 8CA
Description:
SPARE PARTS FOR FIXED REACTOR
MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE.,
3 | VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY EA |125
ENGINEERING
SECTIONAL DWG/PARTS/LIST NO.: H02-5515-1-73
ITEM:FULL THD. HEX. BOLT WITH HEX. NUT & WASHER -
M16 X 90 LG. WASHER MATERIAL: SS
MOC: SA 193 GR B8CA, SA 194 GR 8CA
SIZE:OD44XID18X3THK
MATERIAL STANDARD:ASTM
MANUFACTURER PART NO:7380

TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0212 MNA 1
V-141-0215 NA 2

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,
Mfr Part #: 7380/7780

Item Specifications: REACTOR,SPARE PART
MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA
SIZE: M12 X 130 LG.

ITEM: FULL THREAD STUD WITH HEX NUT
DRAWING NO: H02-5514-1-73 /,H02-5514-1-77

PART NO: 7380/7780

Description:

SPARE PARTS FOR FIXED REACTOR

4 | MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE., EA |350
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY
ENGINEERING

SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-73 /,H02-5514-1-77
ITEM:FULL THREAD STUD WITH HEX NUT , MOC: SA 193M
GR.B8CA, SA 194 GR.8CA

SIZE:M12 X 130 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NO:7380/7780

TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0210 MNA 1
W-141-0213 NA 1

P.O. Box 4421 Salmiya 22045 Kuwait—Tel.: 965-22272270/72—Fax: 965-22272271-E-mail: admin@re-petroleum.com



ReF,
\Q R & E PETROLEUM EQUIPMENTS

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,
Mfr Part #: 7381

Item Specifications: REACTOR,SPARE PART
MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA
SIZE: M12 X 55 LG.

PART NO: 7381

ITEM: FULL THREAD STUD WITH HEX NUT
DRAWING NO: H02-5514-1-73

Description:

SPARE PARTS FOR FIXED REACTOR
MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE.,

> | VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY EA 120
ENGINEERING
TAG NO. EQUIP. MODEL NO. EQUIP SL. NOQ.
V-141-0210 NA 1
V-141-0213 MA 1
SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-73
ITEM:FULL THREAD STUD WITH HEX NUT MOC: SA 193M
GR.B8CA, SA 194 GR.8CA
SIZE: M12 X 55 LG.
MATERIAL STANDARD:ASME
MANUFACTURER PART NO:7381
Manufacturer: STAMPINOX S.R.L. UNIPERSONALE..
Mfr Part #: 7385/7781
Item Specifications: REACTOR,SPARE PART
SIZE: M24 X 160 LG.
DRAWING NO: H02-5514-1-73 /,H02-5514-1-77
MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA
PART NO: 7385/7781
ITEM: FULL THREAD HEX BOLT WITH HEX NUT
Description:
SPARE PARTS FOR FIXED REACTOR
5 | MANUFACTURER NAME:STAMPINOX S.R L. UNIPERSONALE., ea | 28
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY
ENGINEERING
TAG NO. EQUIP. MODEL NO. EQIUIP SL. NO.
W-141-0210 MA 1
W-141-0213 MA 1

SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-73 /,H02-5514-1-77
ITEM:FULL THREAD HEX BOLT WITH HEX NUT MOC: SA 193M
GR.B8CA, SA 194 GR.8CA

SIZE:M24 X 160 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NO:7385/7781

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,

7 Mfr Part # 7382/7-782 EA | 195
Item Specifications: REACTOR,SPARE PART

ITEM: FULL THREAD HEX BOLT WITH HEX NUT & STD. WASHER,

P.O. Box 4421 Salmiya 22045 Kuwait—Tel.: 965-22272270/72—Fax: 965-22272271-E-mail: admin@re-petroleum.com



ReF,
\Q R & E PETROLEUM EQUIPMENTS

SIZE: M12 X 90 LG.

MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347

PART NO: 7382/7782

DRAWING NO: H02-5514-1-73 /,H02-5514-1-77

Description:

SPARE PARTS FOR FIXED REACTOR

MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE.,
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY

ENGINEERING
TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0210 NA 1
V-141-0213 NA 1

SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-73 /,H02-5514-1-77
ITEM:FULL THREAD HEX BOLT WITH HEX NUT & STD. WASHER
MOC: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347

SIZE:M12 X 90 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NQO:7382/7782

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,

Mfr Part #: 7384/7783

Item Specifications: REACTOR,SPARE PART

MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347

DRAWING NO: H02-5514-1-73 /,H02-5514-1-77

SIZE: M16 X 85 LG

PART NO: 7384/7783

ITEM: FULL THREAD HEX BOLT WITH HEX NUT & STD. WASHER

Description:
SPARE PARTS FOR FIXED REACTOR
g | MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE., EA | 20
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY
ENGINEERING
TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0210 NA 1
V-141-0213 NA 1

SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-73 /,H02-5514-1-77
ITEM:FULL THREAD HEX BOLT WITH HEX NUT & STD. WASHER
MOC: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347

SIZE:M16 X 85 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NO:7384/7783

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,

Mfr Part #: 7881

Item Specifications: REACTOR,SPARE PART

PART NO: 7881

9 | SIZE: M20 X 70 LG. EA | 36
DRAWING NO: H02-5514-1-78

ITEM TYPE: Full Thread hex bolt with hex nut & 2 Std. Washer
MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347
Description:

P.O. Box 4421 Salmiya 22045 Kuwait—Tel.: 965-22272270/72—Fax: 965-22272271-E-mail: admin@re-petroleum.com



ReF,
\Q R & E PETROLEUM EQUIPMENTS

SPARE PARTS FOR FIXED REACTOR
MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE.,
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY

ENGINEERING
TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0210 NA 1
V-141-0213 NA 1

SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-78
ITEM:FULL THREAD HEX BOLT WITH HEX NUT & 2 STD. WASHER
MOC: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347
SIZE:M20 X 70 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NO:7881

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,
Mfr Part #: 1.9

Item Specifications: REACTOR,SPARE PART

SIZE: M12 X 40 LG.

ITEM TYPE: Full Thread hex bolt with hex nut
MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA
DRAWING NO: H02-5514-1-83

PART NO: 1.9

Description:

SPARE PARTS FOR FIXED REACTOR

10 MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE., EA |139
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY
ENGINEERING
TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.

V-141-0210 NA 1

V-141-0213 NA 1

SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-83
ITEM:FULL THREAD HEX BOLT WITH HEX NUT MOC: SA 193M
GR.B8CA, SA 194 GR.8CA

SIZE: M12 X 40 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NO:1.9

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,
Mfr Part #: 1.10

Item Specifications: REACTOR,SPARE PART
MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA
ITEM TYPE: Full Thread hex bolt with hex nut

PART NO: 1.10

11 | SIZE: M12 X 60 LG EA | 18
DRAWING NO: H02-5514-1-83
Description:

SPARE PARTS FOR FIXED REACTOR

MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE.,
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY
ENGINEERING

P.O. Box 4421 Salmiya 22045 Kuwait—Tel.: 965-22272270/72—Fax: 965-22272271-E-mail: admin@re-petroleum.com



ReF,
\Q R & E PETROLEUM EQUIPMENTS

TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0210 MA 1
V-141-0213 NA 1

SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-83
ITEM:FULL THREAD HEX BOLT WITH HEX NUT MOC: SA 193M
GR.B8CA, SA 194 GR.8CA

SIZE:M12 X 60 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NO:1.10

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,
Mfr Part #: 7383

Item Specifications: REACTOR,SPARE PART

MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347
SIZE: M12 X 60 LG.

DRAWING NO: H02-5514-1-73

ITEM TYPE: Full Thread hex bolt with hex nut & Std. Washer
PART NO: 7383

Description:
SPARE PARTS FOR FIXED REACTOR
12 | MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE., EA
VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY
ENGINEERING
TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0210 NA 1
V-141-0213 NA 1

SECTIONAL DWG/PARTS/LIST NO.: H02-5514-1-73

ITEM:FULL THREAD HEX BOLT WITH HEX NUT & STD. WASHER

MOC: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347

SIZE:M12 X 60 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NO:7383

Manufacturer: STAMPINOX S.R.L. UNIPERSONALE.,

Mfr Part #: 7880

Item Specifications: REACTOR,SPARE PART

DRAWING NO: H02-5514-1-78

PART NO: 7880

SIZE: M12 X 45 LG.

MATERIAL: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347

ITEM TYPE: Full Thread hex bolt with hex nut & 2 Std. Washer
Description:

13 SPARE PARTS FOR FIXED REACTOR EA | 87

MANUFACTURER NAME:STAMPINOX S.R.L. UNIPERSONALE.,

VENDOR NAME: LARSEN & TOUBRO LIMITED - HEAVY

ENGINEERING
TAG NO. EQUIP. MODEL NO. EQUIP SL. NO.
V-141-0210 MA 1
V-141-0213 MA 1

SECTIONAL DWG/PARTS/LIST NO.: HO2-5514-1-78
ITEM:FULL THREAD HEX BOLT WITH HEX NUT & 2 STD. WASHER

P.O. Box 4421 Salmiya 22045 Kuwait—Tel.: 965-22272270/72—Fax: 965-22272271-E-mail: admin@re-petroleum.com



ReF,
Q R & E PETROLEUM EQUIPMENTS

MOC: SA 193M GR.B8CA, SA 194 GR.8CA, SS 347
SIZE:M12 X 45 LG.

MATERIAL STANDARD:ASME

MANUFACTURER PART NO:7880

Manufacturers: STAMPINOX S.R.L. UNIPERSONALE.,

Your offer must include: -

The name and address of the Manufacturer and Country of Origin to be stated.
Please provide us your offer on your Letter head.

Validity: Your Quotation should be valid for 90 days.

Delivery Period: Please quote your best possible shipment period in your offer.
Deviation: If any deviations are there, kindly indicate.

Technical Details: Include Manufacturer’s detailed technical specifications,
drawing, catalog, leaflet etc.

Payment terms is must

e Certificate : certificate of conformity & certificate of origin is mandatory

Hadeer Mohamed
Procurement Engineer
R&E Petroleum Equipments Company

&)

Tel :  (965) 22272270/ 72

Fax: (965) 22272271
Mob(WhatsApp) : +2 01014827775
Email: Egypt@re-petroleum.com
Website: www.re-petroleum.com

P.O. Box 4421 Salmiya 22045 Kuwait—Tel.: 965-22272270/72—Fax: 965-22272271-E-mail: admin@re-petroleum.com


mailto:Egypt@re-petroleum.com
http://www.re-petroleum.com/

